SECTION 2
DISASSEMBLY

2-1. COVER REMOVAL

@ Turn the two fasteners

® Two tapping screws

(DIA. 4x12) T~

® Front panel

Two tapping screws
® Two screws (B) (DIA. 4x12)

(4x15)

Side panel (R)

Note : Turn the base upside down to remove, then remove four feet and seven tapping screws (black). (With the hood installed)

2-2. LENS REMOVAL

® Lens

® Four flange nuts
(M5)

2-1



2-3. G BOARD REMOVAL

@ Three terminal screws
(M3x8)

DC Fan

® Case (GTP)

Connector (3 pin)
Six terminal screws

(M3x8) \? : \.
@ G board NS T

CN851

@ Screw
(+PSW M4x10)

= Plate (G)
terminal

AC piate assy

(+PSW M4x10)
Screw (+PSW 3x6)

@ Power block

2-4. PA BOARD REMOVAL

(M3x8)

Holder (K)

) ?/(D Two terminal screws
. WASNY
o

® Two PC board holders

PA board

cne01° VB2 cNB09

(D Tapping screw
(DIA. 4x12)

t/ x@ PA block

2-2



2-5. PB BOARD REMOVAL

Tapping screw
(DIA. 4x12)

® Four screws
: (+PSW M3x12)

High-voltage DC block

N

i

@ PB board

Two claws

® Tapping screw
(DIA. 4x12)

@ Two
| tapping
screws
only left side
(DIA. 4x12)

— Rubber cap

|~ Cable

2-6. A BOARD REMOVAL

Y board

CN100

Two connectors —[ CN101

Four PC board supports

@ A block

HIGH-VOLTAGE CABLE REMOVAL
1) Shift rubber cap

2) Pressing cable, Turn 90°

3) Pull out a cable

A shield cover (TP)

Two screws
(+BVTP 3x8)

AA board

%—f@ Rear panel (A) Assy

@ Six screws
(+BVTP 3x8)

l

Two prevention screws

@ Interface board
(IFB-40)
® Two M3 screws

2-3



2-7. H AND L BOARDS REMOVAL

® L board

Control panel block

@ Control panel bracket

1]
£
g3
o
25
[
s Q
&
@

2-8. DE BLOCK OPEN

the DE block

® Open

2-4



2-9. EB BOARD REMOVAL
CN535 (® Two tapping screws
?/ (DIA. 4x12)

® EB board

@ Three purse locks

Two tapping screws
(DIA. 4x12)

2-10. FAN REMOVAL

Connector (3 pin)
® Two screws
(+PSW M4x35)

Fan bracket

Side panel (R)
@ (Pushing the side panel (R)/(L) to
inside) Open the fan bracket

@ Two tapping screws
(DIA. 4x12)

2-5



2-11. PICTURE TUBE REMOVAL

HIGH-VOLTAGE CABLE REMOVAL
1) Shift rubber cap

2) Pressing cable, Turn 90°

3) Pull out a cable

|__—— Rubber cap

Two SW hexagon head screws
(M5x12)
@ CA board

l_—— Cable

) G
. ) ©F
B S ® Band assy
Neck assy
(NA366)
T Neck assy
< (NA-3616A)
Diflection yoke

@ Four bolts assy
@ Picture tube

2-12. HIGH-VOLTAGE DC BLOCK

HIGH-VOLTAGE CABLE REMOVAL
1) Shift rubber cap

2) Pressing cable, Turn 90° Tapping screw
3) Pull out a cable (DIA. 4x12)
Rubber cap ——__|
..——@®@ High-voltage DC block
I
Cable l/ A t>
™.




2-13. M AND QM BOARDS REMOVAL

@ Two tapping screws
(DIA. 4x12)
® Two tapping screws
(DIA. 4x12)

@® Holder (AL)

Holder (IFB)

@ fg&, Ijﬁ%}g screws Two tapping screws
: (DIA. 4x12)

CNB803 CN801
N
N 1805 \ CNTOZ / J802
i J8o1
J803 \\ \ / / J800
2 @ QM board 5:5%/ | —
YN -

\J CN924 CN912 CN915 CN916

N9os CN905 \CNI19\CNIO3ICNIO1/ CNIO2
CN907 CN9Q CN917
\ CN921

J905
- J908
N -
= [ J907

AN i
S S/INANNN
® Five tapping screws ~ ® M board CN928

DIA. 4x12 ]
( x12) CN926’CcNg27 / CN9O04 /CNIT1/CNG14/CNIT8\ Ja0T
CN931 CN920 CN910 CN913 J900

2-7



